
Subject: Re: Help: how to do ?
Posted by eddie haskell on Tue, 04 May 1999 07:00:00 GMT
View Forum Message <> Reply to Message

"Robert S. Hill" wrote:
>  I added the following method to Pavel's test program:
>  
>  a1=findgen(1,3)
>  a2=findgen(n,3)
>  a3 = make_array(n,val=1) # a1
>  a4 = a2 + a3

For what it's worth, I find that, at least on my system, replicate
works about 10-20% faster than make_array, as in the following:

a1 = findgen(1,3)
a2 = findgen(n,3)
a3 = a2 + (replicate(1,n) # a1)

Cheers,
eddie
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